	CAMPO	<b>D VERDE NU</b>	RSERY	
Phone: 56	61-617-3300	20231 Antoi	nette St., Loxahatcl	hee, FL 33470
	June	e 2021 Availab	oility	
		Palm Trees		
	Alexander	Palm (Ptychospern	na elegans)	
Size	Dimensions	Stem	Price	Installed *Includes plant
15 Gallon	7-8 ft	s,d,tps,qd	\$35.00	\$53.00
25 Gallon	8-10 ft	s,d,tps	\$60.00	\$90.00
Field Grown	9-12 ft (Planted Height)	s,d,tps	\$125.00	\$200.00
Field Grown	13-16 ft (Planted Height)	s,d	\$150.00	\$275.00
	Bismarcl	c Palm (Bismarckia	nobilis)	
Size	Dime	nsions	Price	Installed *Includes plant
15 Gallon	3.5	-4 ft	\$65.00	\$100.00
45 Gallon	6-7	7 ft	\$150.00	\$250.00
	Canary Island I	Date Palm (Phonen	nix canariensis)	
Size	Dime	nsions	Price	Installed *Includes plant
45 Gallon	5-0	5 ft	\$125.00	\$188.00





Size	Dimensions	Stem	Price	Installed *Includes plant
3 Gallon	4-5 ft	s,d,tps,qd	\$6.00	\$12.00
Field Grown	6-8 ft (Planted Height)	s,d,tps,qd	\$115.00	\$175.00
Field Grown	10-13 ft (Planted Height)	d,tps	\$175.00	\$275.00
	Cocon	ut Palm (Cocos nu	cifera)	
Size	Dime	Dimensions		Installed *Includes plan
Bare Root	4-6 in		\$3.00	n/a
3 Gallon	2-3 ft		\$6.00	\$12.00
25 Gallon	10-	10-13 ft		\$110.00
Field Grown	12-14 ft (Pla	nted Height)	\$175.00	\$275.00
Field Grown	15-18 ft (Planted Height) 1-2 ft Greywood		\$250.00	\$350.00
Field Grown	19-24 ft (Planted Height) 3-4 ft Greywood		\$350.00	\$500.00
Field Grown	25-30 ft (Pla	nted Height)	\$450.00	\$650.00





	Foxtail F	Palm (Wodyetia bi	furcata)	
Size	Dimensions	Stem	Price	Installed *Includes plant
3 Gallon	3-4 ft	S,d,tps,qd	\$6.00	\$12.00
15 Gallon	6-8 ft	s,d	\$35.00	\$53.00
25 Gallon	8-11 ft	s,d	\$65.00	\$100.00
Field Grown	9-11 ft (Planted Height)	s,d,tps	\$125.00	\$175.00
Field Grown	12-14 ft (Planted Height)	S,d,tps	\$150.00	\$225.00
Field Grown	15-18 ft (Planted Height)	s,d	\$250.00	\$350.00
	Pygmy Dat	e Palm (Phoenix r	oebelenii)	
Size	Dimensions	Stem	Price	Installed *Includes plant
15 Gallon	4-5 ft	S,d,tps	\$35.00	\$53.00
Field Grown	4-7 ft (Planted Height)	s,d	\$75.00	\$110.00
	King Sa	go Palm (Cycas re	voluta)	
Size	Dimen	sions	Price	Installed *Includes plant
7 Gallon	3	ft	\$25.00	\$38.00





	Royal Palm (Roystonea	regia)	
Size	Dimensions	Price	Installed *Includes plant
Field Grown	14-15 ft (Planted Height) 1-1.5 Greywood	\$200.00	\$300.00
Field Grown	16-19 ft (Planted Height) 2-3 ft Greywood	\$225.00	\$325.00
Field Grown	20-25 ft (Planted Height) 4-5 ft Greywood	\$250.00	\$400.00
Field Grown	26-27 ft (Planted Height) 6-7 ft Greywood	\$300.00	\$500.00
	Sylvester Palm (Phoenix Sy	lvesteris)	•
Size	Dimensions	Price	Installed *Includes plant
Field Grown	5-7 ft (planted height)	\$150.00	\$225.00
Field Grown	3-5 ft Greywood	\$400.00	\$600.00
Field Grown	6-11 ft Greywood	\$500.00	\$750.00
Field Grown	12-14 ft Greywood	\$550.00	\$825.00
Field Grown	15-16 ft Greywood	\$600.00	\$900.00
	Spindle Palms (Hyophorbe ve	erschaffeltii)	
Size	Dimensions	Price	Installed *Includes plant
Field Grown	3.5-5 ft	\$100.00	\$150.00
	Montgomery Palms (Veitchia mo	ontgomeryana)	
Size	Dimensions	Price	Installed *Includes plant
Field Grown	17-20 ft (Planted Height) 10 ft Clear Trunk	\$200.00	\$300.00





	Hedge Plants					
	Areca (Dypsis lutescens)					
Size	Dimensions	Price	Installed *Includes plant			
15 Gallon	4.5-5.5 ft (Planted Height)	\$40.00	\$55.00			
25 Gallon	6-7 ft (Planted Height)	\$75.00	\$110.00			
Field Grown	12-14 ft (Planted Height)	\$175.00	\$275.00			
D	warf Clusia (Clusia fluminensis - I	Dwarf Pitch Apple				
Size	Dimensions	Price	Installed *Includes plant			
3 Gallon	12-18 in (Planted Height)	\$6.00	\$12.00			
	Cat Palm (Chamaedorea cata	aractarum)				
Size	Dimensions	Price	Installed *Includes plant			
3 Gallon	12-15 in (Planted Height)	\$8.00	\$16.00			
7 Gallon	20-24 in (Planted Height)	\$20.00 \$30.00				
·	Clusia (Clusia flava - Small L	eaf Clusia)				
Size	Dimensions	Price	Installed *Includes plant			
15 Gallon	3.5-4 ft (Planted Height) 3 ft (Planted Width)	\$40.00	\$55.00			
25 Gallon	5.5-6 ft (Planted Height) 4.5-5' (Planted Width)	\$75.00	\$110.00			





	Fishtail (Caryota mit	is)	
Size	Dimensions	Price	Installed *includes plant
15 Gallon	3.5-4 ft (Planted Height)	\$40.00	\$55.00
25 Gallon	7-9 ft (Planted Height)	\$75.00	\$110.00
	Simpson's Stopper (Myrcianth	es fragrans)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	3-3.5 ft (Planted Height)	\$6.00	
	Ornamental Plan	its	
l	mperial Bromeliad "Rubra" (Alcar	ntarea bromelia)	
Size	Description	Price	Installed *Includes plant
3 Gallon	1.5-2 ft	\$20.00	\$30.00
7 Gallon	2.5-3 ft	\$45.00	\$68.00
Quee	n Emma (Crinum augustum 'Que	een Emma Supren	ne')
Size	Description	Price	Installed *Includes plant
7 Gallon	4-5 ft	\$45.00	\$68.00
	Ixora (Siam ribbon	)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	12-18 in.	\$5.50	\$10.00





	Ixora (Maui yellow	)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	12-18 in.	\$5.50	\$10.00
	Aloe vera (Aloe barbado	ensis)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	12-18 in.	\$8.00	\$16.00
15 Gallon	3-4 ft	\$40.00	\$55.00
	Cocoplum "Red Tip" (Chrysoba	alanus icaco)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	3-3.5 ft	\$5.50	\$10.00
	Croton "Gold Dust" (Codiaeum	variegatum)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	1.5-2 ft	\$5.50	\$10.00
	Croton "Mammey" (Codiaeum	variegatum)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	12-18 in.	\$5.50	\$10.00
	Song of India (Dracaena ı	reflexa)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	1.5-2 ft	\$5.50	\$10.00
	Silver Buttonwood (Conocarpus E	rectus sericeus)	
Size	Dimensions	Price	Installed *includes plant
15 Gallon	4-5 ft (Planted Height)	\$35.00	\$53.00





	Trinette (Schefflera arb	oricola)	
Size	Dimensions	Price	Installed *Includes plant
3 Gallon	12-18 in.	\$6.00	\$12.00
7 Gallon	2-2.5 ft	\$12.00	\$25.00
	Sea Grape (Coccoloba u	vifera)	
Size	Dimensions	Price	Installed *includes plan
3 Gallon	2-3 ft (Planted Height) *10% OFF 6/1 - 6/30 @4pm	\$5.40	\$10.80
7 Gallon	3.5-4 ft (Planted Height) *10% OFF 6/1 - 6/30 @4pm	\$11.70	\$18.00
15 Gallon	4.5-5.5 ft (Planted Height) *10% OFF 6/1 - 6/30 @4pm	\$27.00	\$40.50
	Green Island Ficus (Ficus n	nicrocarpa)	
Size	Dimensions	Price	Installed *includes plan
3 Gallon	12-18 in.	\$6.00	\$12.00
	Agave Americana 'Vari	iegata'	
Size	Dimensions	Price	Installed *includes plan
3 Gallon	12-18 in.	\$10.00	\$15.00





	Machine Services	S	
Туре	Description		Price
Mini-Skid Steer Service	Toro Dingo TX 1000 One machine operator Two available machine attachn *No service fee within 50mi ra	4 Hour- \$500.00 8 Hour- \$900.00	
Skid Steer Service			
Loader Service			
Backhoe Service	JCB 3CX One machine operator Two available machine attachn *No service fee within 50mi ra	8 Hour- \$1,600.00	
	Plant Food		
Туре	Description	Price	Installed *Includes product
Potted Plant Fertilizer	12oz Plastic Container *11-4-11 Fertilizer	\$5.00	n/a
Potted Plant Fertilizer	50lb Bag \$50.00 *11-4-11 Fertilizer		No fee
Field Grown Plant Fertilizer	50lb Bag \$55.00 *12-4-12 Fertilizer		No fee
Compost Package	25 Gallon Pot with Compost and Fertilizer	\$20.00	\$30.00
Compost	1 Yard of Compost	\$15.00	n/a





		Tools		
Туре		Description	Price	
Dyna Diggr 18" bl	ıde	Power shovel with 18" blade	\$2,200.00	
Dyna Diggr 24" bl	de	Power shovel with 24" blade	\$2,350.00	
Dyna Diggr 30" blade		Power shovel with 30" blade	\$2,500.00	
		Sod		
Туре		Dimensions	Price Per Pallet	
St. Augustine (Floratam)	500 square feet per pallet *Minimum 3 pallets		\$270.00 Installed	
St. Augustine (Palmetto - Shade)	500 square feet per pallet *Minimum 3 pallets		\$270.00 Installed	
Bahia	4	100 square feet per pallet *Minimum 4 pallets	\$155.00 Installed	





Mulch					
Eco-Mulch					
Description	Price	Installed *Includes mulch			
	\$3.00 (Per Bag)	\$4.50 (Per Bag)			
<ul> <li>*Minimum 3 pallets</li> <li>• Mixture of virgin round-woods. This mulch may include: Slash Pine, Black Olive, Oak, etc., but does not contain any Melaleuca wood. It is excellent as a general-purpose mulch.</li> <li>-80 bags per pallet</li> </ul>	\$240.00 (Per Pallet)	\$360.00 (Per Pallet)			
Cypress Blend					
	\$3.00 (Per Bag)	\$4.50 (Per Bag)			
*Minimum 3 pallets -Cypress wood blended with virgin round- woods. This mulch may include: Slash Pine, Black Olive, Oak etc.	\$240.00 (Per Pallet)	\$360.00 (Per Pallet)			
	Eco-Mulch         Description         Image: Construction of the second s	Eco-MulchDescriptionPriceImage: Stand Sta			





	Eco-Melaleuca		
Eco-Melaleuca	*Minimum 3 pallets • Made from 100% Melaleuca wood • 75 bags per pallet	\$3.00 (Per Bag) \$225.00 (Per Pallet)	\$4.50 (Per Bag) \$338.00 (Per Pallet)
	Premium Red		
Red	*Minimum 3 pallets	\$3.00 (Per Bag) \$225.00 (Per Pallet)	\$4.50 (Per Bag) \$338.00 (Per Pallet)
	<ul> <li>Minimum 3 pailets</li> <li>Made from double-ground kiln-dried clean wood, predominantly Pine and Oak. Blended with clean, virgin, round-woods such as Slash Pine, Black Olive, Oak, etc. and colored red.</li> <li>75 bags per pallet</li> </ul>		





	Premium Gold					
Gold	<ul> <li>*Minimum 3 pallets</li> <li>-Made from double-ground kiln-dried clean wood, predominantly Pine and Oak. Blended with clean, virgin, round-woods such as Slash Pine, Black Olive, Oak, etc. and colored gold.</li> <li>-75 bags per pallet</li> </ul>	\$3.00 (Per Bag) \$225.00 (Per Pallet)	\$4.50 (Per Bag) \$338.00 (Per Pallet)			
	Premium Brown					
Brown	*Minimum 3 pallets -Our Premium Brown mulch is made from clean double ground hardwoods and screened to 1.5" minus. It is colored to a dark reddish brown. The premium colorants we use are formulated with binders to minimize wash off and to give you the longest color retention available. -75 bags per pallet	\$3.00 (Per Bag) \$225.00 (Per Pallet)	\$4.50 (Per Bag) \$338.00 (Per Pallet)			





	Premium Black		
Black	<ul> <li>*Minimum 3 pallets</li> <li>Our Premium Black mulch is made from clean double ground hardwoods and screened to 1.5" minus. The premium colorants we use are formulated with binders to minimize wash off and to give you the longest color retention available.</li> <li>-75 bags per pallet</li> </ul>	\$3.00 (Per Bag) \$225.00 (Per Pallet)	\$4.50 (Per Bag) \$338.00 (Per Pallet)
	Certified Playgroun	ıd	
Certified Playground	*Minimum 3 pallets -This product is made primarily from Pine wood and Virgin Hardwood and is chipped to approximately 3/4' minus in size. Color may vary from light to medium brown. -75 bags per pallet	\$5.00 (Per Bag) \$375.00 (Per Pallet)	\$7.50 (Per Bag) \$563 (Per Pallet)





Pine Bark Nuggets					
Pine Bark Nuggets	*Minimum 3 pallets -1" - 2.5" size mini nuggets. -75 bags per pallet	\$5.00 (Per Bag) \$375.00 (Per Pallet)	\$7.50 (Per Bag) \$563 (Per Pallet)		
	Eucalyptus				
Eucalyptus	<ul> <li>*Minimum 3 pallets</li> <li>Eucalyptus Mulch is reddish-brown in color and is made with 100% Eucalyptus, it has a nice Eucalyptus scent. The aromatic oils produced by Eucalyptus wood may naturally resist insects.</li> <li>75 bags per pallet</li> </ul>	\$5.00 (Per Bag) \$375.00 (Per Pallet)	\$7.50 (Per Bag) \$563 (Per Pallet)		



